Measurement of Weight

1. Fill in the blanks.

a. The standard unit of weight is

b. Akilogram is divided into 1000 equal parts. Each partiscalleda .ts
symbol is

c. grams make 1 kilogram.

d. 5000g-= kg.

e. 36kg= g= mg.

2. Express the following in kg.

a. 12kg 25g
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J

3. Change the following kilograms into grams.

a. 2 kg 700g
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~

b. 49 kg 500g
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J

b.49 kg 500 g
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~




4. Add:

a.24gand32g
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J

b. 6.24 kg and 3.14 kg
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J

5. Three shipment containers weigh 6000 kg, 2000 kg and 4000 kg. What is the total

weight of this consignment in kg?
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